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5 |[TZUNEE2— (PAFITI)) =F )L 511 511
6 |T7ZULER2—bRaXl oF )L 0.021 0.002 0.023
7 | TOUNER LIV — T F )L 84 2.1 86
8 |TIUILFRATF L 0.037 511 0.003 511
9 |[77Va=kJ)L 1.6 202 1.2 205
10 |[77ulb A 74 654 6,420 26 1,309 40| 278 8,801
11 | 7LD A 0.14 0.14
12 |[7E&MILTER 0.78 339, 3,592 36,822 133 5,518 4,114 371 99 0.006 420 51,409
13 | 7kh=kJsL 171 9.0 22,694 22,874
14 |77 JERUV
15 |[7EF77
16 |2, 2" —7 v 2AYT7Fu=Rr)L 0.015 0.015
17 AN b—T=Pr
18 | 7=V 0.13 165 165
19 [1—73/—9, 10—T7>F7X /)
20 |2—T3)xHK)—)L 413 74,425 45,974 120,812
21 |rayxy
22 | 747m=)L 452 108 559
23 [T —=T3)T=x/)—)L
24 |\ AR—T3I)Tx/)—)V
25 [ ART Vv 50 50
26 |3—T73I/—1—7m~
27 | A¥Ipmy
28 |77 ILa—)u
29 1—T7ULAFL—2 3—ARFL S 18 18
HET LX NP ZLRUTE N NFD
30 M (T AXNIEDRBEN100514FT 4,903 9,071 173 158,746 27,873 200,766
DOLO K OZDIREWIZIRD, )
31 | 7o F 'L ROFDILEY 76 5.1 240 18 340
32 | TUhTR 0.0005 0.0005
33 |
a4 3— AT FrAF N —3, 5, 5—KMIAF 1.4 1.4
LS IaNFI =AU T F—h : )
35 | A/ TFILTILTER
36 AT 5,689 15,799 21,487
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41 |7V T=)1 1,726 1,726
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43 A BEV
44 AP LR IZEDOILEY 0.0003 0.13 0.13
45 | TR FF— )L
46 |V aky I 252 252
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48 |EPN
49 [T AR 9,698 9,698
50 [FEUxR—Fk 3,744 3,744
51 |2—xF )L~FH Mg 63 48 112
52 | TI=HNT 800 800
53 |mF LB 122,277 22,316 115 56,192 469 91,803 1,552 1,091 3,714 93 599 59] 300,280
54 |ARAFTP—h 5,675 5,675
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56 |=FL L AFUR 1,085 19,333 20,418
57 |=FL P Va— L/ oF)Lo—F)L 1,532 0.22 1,532
58 |=F LS Va—)LE ) AF )L o—F )L 78 0.38 78
59 [mFLLUTI 0.043 0.003 0.047
60 |=FL U7 UEERR 1.2 46 137 185
61 |~r %7 125 125
62 |~rats 12,330 12,330
63 [T YT EaIR 14,959 14,959
64 |Th7xr Ty IR 2,009 111 2,120
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80 |FI L 160,197 26,355 311 1,317| 114,748 6,026 2,397 363,130 5,043 5,598/ 10,383| 371 58 395 307] 696,638
81 | /U 0.0001 0.0001
82 |#R K ONFDKIAEMAL S W) 20 26 11 57
83 |[ZAV 1,484 6.0 1.1 1,953 88 3,532
84 |ZVAFH—L 0.043 0.007 0.050
85 |ZNAILTILFER 30 0.29 30
86 |71 — /L 6.3 114 2.3 123
YR A=ON QO =P N (A= Y] 10 0.71 115 4.7 76 17 224
88 |NMflizaMbEY 1.9 1.9
89 oy =yr 950 950
90 |[ThITv 1,404 1,404
91 [>T FTv 1,370 1,370
92 |FMLT7z BTR 384 384
93 | ANTF/m—)L 7,578 7,578
94 |[HifkE =11 941 0.65 941
95 |ZATIF A 3,496 3,496
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122 |2— a7 ub’ 4 g
123 [HEfe7 U
124 |73vay 1,202 1,202
125 |[7ap~_ ¥ 495 3,626 55 25 4,202
126 |CFC—115
127 |Z7aakv 280 1,951 312 26 2,569
128 kAT IV
129 [4—/vu—3—AF )T x/)—)L
130 |MCP
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145 |2— (P =F)NT3))xH)—)L
146 |[EUIRAAF L
147 |FAXU LT 684 684
148 | B 7= Apa—L 721 721
149 PG bR 0.17 0.17
150 |1, 4— A %W 62 36 97
151 |1, 3— XI5 110 110
152 | %7 4,909 4,909
153 |7 b7 AR 709 709
154 |2 r7ma~F LTI 0.22 0.22
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156 |¥7muur=y.
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166 |1, 2—>/un—4—=—fa~ B
167 |1, 4—7um—2—=fp~_ P
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171 |[Fut’=)> —)u 154 58 212
172 [ AxVrnrRy 1,094 1,094
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180 |3, 3° — /Lo
181 |7 B 0.39 945 101,329 197 98] 102,569
182 B9 ¥ 7 70 70
183 [B'FYL—h 7,129 7,129
184 [P rm~_=)L 5,173 5,173
185 |HCFC—225 726 726
186 |HEfkAT L 52,160 76 52,236
187 [F T v 2,856 2,856
188 |IN, N—o7a~FL /L7
189 N, N—v7anFi i —2—~_)F7

S— L AT 2 TIR
190 |y rmau oIy 0.0007 0.0007
191 (YT uFA+T 1,464 1,464
192 |=F 4T L IRA
193 | =F L F A AR
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199 |CIZ/LAL A B R260
200 |v=haRl T
201 |2, 4—Y=ka7x/)—)L
202 | =P
203 |7 z= LT3 4.4 4.4
204 |7 =)L =—F )L
205 |1, 3— VT VT T = 0.0001 0.001 0.001
206 |JIVIRAIT 7L 192 192
207 33_6”/ Amvx =T FN—4=T 22 220 39 0.71 282
208 |2, 44—V — 44— ¥)—TF)NTx/)—)L
209 |7 mEsaonAx 884 473 1,357
210 |2, 2—27a®E—2—7 )7 ®RTIR
211 |»~Nur—2402
212 | 77—} 6,666 6,666
213 [N, N=—AF LT ERTIR 429 21 132 582
214 |2, A= AF LT =V
215 |2, 6—AF LT =V
216 [N, N—IAF L7 =1 0.010 0.010
217 |FAHT TN 1,200 1,200
218 [PAF LTI 1.6 0.064 1.6
219 |AF LI AL T 4R
220 | AF IV FF IV S EED KRR
221 | _UT7FHNVT 6,931 6,931
222 [T )FAIINT
223 IN, N=UAFILRTVINT IV
924 s’pN SAFTIRTLVT Iy =N=A% 1 21,080 208 91,299
225 |F) 7Ly 11 11
226 |1, 1=V AF)LERTV
227 [/XFa—} 10,685 10,685
998 3,3 \—“)7“]9%1:“71::/1/—4, 4’ =

IV=UAVTT F—h
229 | FA 77X —RAT L 7,210 7,210
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236 | TAAF =)L 540 540
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TV NI L
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243 | FAFFUHE 1,028 1,028
244 | F Ak 168,489 168,489
245 |FAJRFE 0.0001 2,970 2,970
246 |FA T /)—)L
247 BT 70k A
248 | ATV ) 15,059 1.0 15,060
249 |7 EURA 13,998 13,998
250 [ AYF¥FHYF A 664 664
251 |Jxz=haFF 14,593 266 14,859
252 | T F A 113 113
253 | a7 < J7RA
254 | A7 T~ TRA 1,258 1,258
255 | FHTOEY T =)L T—F )L 0.16 0.16
256 | T Wk 0.15 22 29
257 |7 H/)—)v 942 5.5 948
258 | NFHPAFL T T 3.8 405 4.3 413
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261 | 7Y TIAK 973 973
262 |ThI /o FL 3,772 11 44 3,828
263 |[CFC—112

2.3,5, 6—Th7r7aa— /"5 —~_%
264 |7
265 |7 RTERaAF VKT XV
266 |77 /LRJ 2,850 2,850
267 |FATINT 790 790
268 |F 7L 28 4,494 4,522
269 |V 74—
270 |TL7HLIR 0.00009 0.0004 0.0005
271 [TV I HNRY ATF )L
272 |HiKEETEN (854 1R<, ) 3.5 84 13 26 78 204
273 | V<)L —RFT I )LT )La—)L 0.40 130 48 178
274 | H—xV—RTho T4 —L
275 |R7 2 /Vhig T R o A 1,861 269 1.8 45,029 9,219 56,381
276 |ThTmFL L~ HI 1.2 2,549 2,551
277 [N Z=F L7 153 38,068 38,221
278 |[NJ=FL TR 5.6 46 51
279 |1, 1, 1—RM)rpooxx
280 |1, 1, 2—RN)rpoox k.
281 |NJZom—FL > 15,118 12 62 15,193
282 |~ anfEiz 1.2 11 12
283 |2,4, 6—hN)/ou—1, 3, 5—NT7Y
284 |CFC—113
285 |rvoot sy 1,042,777 1,042,777
286 |FJ7uE L 897 897
287 |2, 4, 6—N)/upr=/—)L
288 |CFC—11 17,304 17,304
289 |1, 2, 3—RJroar o S
290 |F)rma~ B

1, 3, 5—hJA(2, 3—TRF> 7t /L)
291 |—1, 3, 5— T —2, 4, 6(1H, 3H,

5H) — k4>
292 |NJZF LTI
293 |FUZL Y 5,227 5,227
294 12,4, 6—RN)7oE7x/—)L
295 13, 5, 5—FIAF L—1—~FH /—/L
296 |1, 2, 4—RJAF LB 34,496 803 514 350 47,177 479 823 1,107 85,748
297 |1, 3, 5—RJAF LB 14,819 96 138 21,583 495 28,566 568 1,368 992 247 108 68,981
298 |NIL oAV T F—h 8.9 8.9
299 |fLATL 0.029 7,253 7,253
300 |brTy 280,786 39 1.9] 13,586] 122,271 4,432 1,251] 629,255 7,544 8,369 12,598| 278 51 1,157 14| 1,081,632
301 [ML=o o7y
302 |F7HL 2,661 2,075]  0.034 1,139 317 46 6,238
303 |1, 5—FTXZL L IAN="AVT T F—h
304 |43 0.23 0.23
305 |#nbAw 9.7 131 22 67 80 310
306 | T ZUNERANFY AT L 0.11 143 143
307 | M e by va=0 A
308 |=v/ L 0.13 0.27 0.41
309 |=vA LALE W) 21 271 14,692 11 66 14,816
310 | =k = kR
311 [FNbh—=haT=Y—)L
312 A Nb—=btaT=J
313 |=hZ Uk
314 |/NNT—=ppZup~ B
315 |[A/Nh—=hrMlL =z
316 |=ha B 0.46 0.46
317 |=hmAZ 0.10 0.10
318 | “HifkRE 0.91 0.054 0.97
319 | /v~ — /=)L )La—)
320 | /=T x/)—)L 0.054 0.25 0.30
321 (INFUUMMEEW 0.067 246 316 3.3 565
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322 | a7 ) — 4 — AR LT RS 4.2 6.8 1
=UF
323 |V AR 1,304 1,304
394 1, 3—15‘3[(2, 3—TARFT T L) A
R
325 | A ¥ 4 10,737 10,737
326 /a7 FUL
327 11, 2— v A (2—Zun7==)L)ERT
328 [T 3.6 128 6.4 138
329 [ARUH— 3 A—] 280 280
EA(1—AF N —1—Tz=)LF L) =~
330 | o pe 17 1.4 19
331 |HAHPERA 2,334 2,334
332 |{MFE R OPZFOERILEY 0.00006 55/0.000006 7.7 4.4 67
333 |[ERTT 2.7 2.7
334 |[4A—bRuaX % BFBAT IV
335 IN— (4—bReXx> 7xz=/L) T ELIF
336 |ERm¥% v 2.5 3.2 5.6
337 [A—b =L —1—7a~Ft
338 |2—F =LY
339 IN—E =/l —2—t'malJR
340 [E7x=/L
341 [R5
342 U 1.0 0.26 1.3
343 |[HTa—)u 0.002 0.002
344 | T =)V FFT T
345 |7 ==)LERTFV
346 |2— T =T x)—)L 304 304
347 IN—7xz=/)L<L AR
348 | 7=l UTI
349 |7 /)—)L 74 83 10 167
350 |~LARYL 529 269 799
351 |1, 3— &Y= 193 763 19,744 211 1,488 4,175]  371] 134 37 27,115
352 |ZHNEE T YL
353 | 7H IR =F L
354 | ZHRNEEY — )L~ — T F )L 22 30 845 897
355 |7 HNFEE A (2 — =F )L ~F L) 460 20 481
356 |ZXIVEE LI —TF =3P 6.4 6.4
357 |7 a7 285 285
358 |77 7 /)R
259 //1/’\7/1:—7“%/1/—2, 3—xTARF 7
JL—7 )b
360 |~ /3L 2,420 2,420
361 |>aky ST FIL 1,436 1,436
362 |7 7z FroaL
363 | AFXHTTV 1,016 1,016
364 |7zl mFs A—R 52 52
365 |BHA
366 |Z— ¥ —T7F)L=tRa YL AF R
367 [ANb—HH)—TF )N Tz /)—)L
368 |[4—H—Ix¥)—TFNTx/)—)L 0.25 2.9 3.2
369 |7 ULk 30 30
370 |[EUF N 80 80
371 |77 7 IR 10 10
N— (F—%)—TF)) —2—_ VS F7T
372 SV Z)VT 2T IR 34 34
373 22— —x)—TF)—5—AF )T =
J—)
374 | 5o bIKFE R OE DK IEMEE 821 69,746 3,065 73,632
375 |2— 7T F—)L
376 |7 Hra—)L 7,389 7,389
377 |75
378 |7~ 7,840 7,840
379 |2— 7’ —1—F—/L
380 |/~or—1211
381 |7 HET/umAR 1,310 315 1,625
382 [Nz —1301
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383 [T~ L 9,767 9,767
384 [1—7mEr o] 9,506 9,506
385 |[2— T aETa
386 | RALAF L 94,388 94,388
387 Bt 7= T HARX
388 |mLRALT 7
389 ;iﬂLT SIVNIAFNT e =y h=rmY 38 2,268 183 2,489
390 [ NFHAFL U UTIV
391 [ ~AFYPAFL L =TT F—h 1.0 1.0
392 | <L —~FH 60,968 2,323 2,019 123,623 2,761 2.2 122 191,818
393 | RNFFTh—)L
394 | VUL K OFDOILEY 80 80
395 |[~ULASY T RREROD KRR 3.7 3.7
396 |PFOS
397 |y =RralR
398 |[Hfb~oPL 0.011 0.011
399 | XU X7 LTER 0.004 110 8,496 127 759 206 93 0.0001 9,791
400 |~ P 4,132 8.6 3,719 624] 129,051 2,280 8,624 6,884 371 141 51 337] 156,223
401 jk’t;f A= S BANIIRARRL, 2= 100008 0.000008
402 [ A7 F Bk 1,467 1,467
403 [T ) 0.004 0.004 0.008
404 | ~_oE a7 x ) —)L
405 [1FHFILEW 255 66 57 2.5 141,689 142,070
406 |PCB
R mFLo) =T LF /L —T )b
407 | (T X NVFEDRFBEDN120615FTOL 7,320 29,981 30 495,974 11,434 544,738
D/ OLDIREWIZIRD, )
408 i”_(ifi/iﬁ//)_jy%ﬂ/7i”l/ 81 578 2.7 834 29 6,736
R (AFT=FL o) =RFilo—7)L
409 R T 2 S s 216| 109,776|  0.035 98,773 18,535 227,299
410 i%ﬁwiﬁ//)_/*"wji*"m‘ 1,143 40,518 53 1,455 178 43,347
411 [V LT IVTER 25,546 431 1,304 941 83,548 394]  24,917]  12,370] 1,113 67 98,694 737 122 250,185
412 |~ H U R OZEDILEW 5.1 134 3.8 5.7 40 188
413 K7 Z 1 4.1 4.1
414 K~ L AR 0.021 0.75 0.77
415 | ARV )LER 44 1.2 46
416 |[ARZVVEE2 — =F )L ~FI )L 3.5 0.014 3.5
A17 | ARTVVER2, 3— /R¥% 7 atk’)L
418 | AZTVNVEE2 — (VAFINVT ) =F )L 0.004 0.017 0.021
419 [ AZZVIVER I~V —T F )L 0.48 0.48
420 [ AXTVIVERAT )L 1,320 278 25 1,622
421 [A—AFVT o AFBH —2—F
422 |72 894 894
423 [ AF LTI 0.0004 0.00002 0.0004
424 | AFIV=AVF AT H—h 8,740 8,740
425 AV FahNT
426 |HIVRTT
427 [A "L 1,025 276 1,301
428 |7 )7 HNT 118 431 549
429 [~NoRLTEL ATV 1,021 1,021
430 (A R¥HHLT 120 120
431 |7V ¥ AbaE 6,119 6,119
432 |[TIFT X 40 40
433 |[H— 3N 7,150 7,150
434 | AFV I 186 186
435 |EUI NI AT )L 1,792 1,792
436 | TNV T 7 —AF )V AF L
437 |3—AF NT A7) —)
438 [ AFNLFTHL L 17 4,016 0.098 4,033
439 [3—AFLEVD
1—AF)L—1—Txz=)LF /)L =tRa~
40 | Sk 0.15 1.5 1.7
441 2— (1—AFNLTHEN) —4, 6—=Iu
7 /)—)
442 | AFa=)L 40 40
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443 | AV 2,496 2,496

444 |N)7 oL Ak 96 96

445 [T VXL DAF )L 1,004 1,004

446 |4, 4’ —AFL U7 =)

AFL R4, 1= 7a~FilLy) =
447 SRk 1.2 1.2
AFLUER(4, 1—Txz=Ly) =AYy

448 5k 137 137

449 | T2 AT 4T 7

450 |7 FHLT 466 466

451 |[2—ARFL —5—AF LT =Y

452 2= ANVAT IS F T —)L 30 30

453 | BV T R OZFDILEY 1.7 786 3.1 791

454 12— (BNVHRN I OFH) XU F T — ) 2.4 2.4

455 |FE/LARY 107 683 791

456 |DAALT LI= 4 330 330

457 |7 a)LR A 1,248 44 1,292

458 [VAPBER A (2 — T )L ~F L)

459 |WAFENA (2— Z/aaxF /L) 0.33 0.33

460 [V AERNIRIL 3.0 3.0

461 |WABEN 7 ==)L 4.2 7.5 12

462 [W AN — /)L~ )L— T F )L 0.0001 0.001 0.001
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